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Aufgaben-Quickname: 5921
Aufgabe 1
Setze + oder — ein.
a)14—9=25 b) 10 +8 =18 c) 27— 15 =12 d) 14 +2=16
)43 -36=7 H12+1=13  31+2=33 h)34-33=1
i)48 — 45 =3 H6—4=2
Aufgabe 2
Setze + oder — ein.
) T1—36=35 1)37+15=52  ¢) 38+ 16 =54
)97 —70=27  &)45-37=8 )73 —39 =34
g) 28 —18 =10 h) 45 —40 =5 )23—14=9 H1242=14
Aufgabe 3
Setze + oder — ein.
a) 13 —12 =1 b)6 —4 =2 )20 —19=6 d)7+1=8
e)3+2=5 f)5+3=38 g)3+1=4 h) 27 —22 =5
)29 —26 =3 j)24—-21=3
Aufgabe 4

Setze + oder — ein.

a) 7586 — 6596 = 990
¢) 2884 — 2630 = 254
e) 7282 + 2480 = 9762
g) 3405 — 2393 = 1012
) 935 — 810 = 125
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b) 4320 + 3731 = 8051
d) 4757 + 1363 = 6120
£) 9092 — 6569 = 2523
h) 8440 — 5278 = 3162
i) 1540 + 211 = 1751
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